



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right) - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right) + \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^0 + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{6}\right) =$$



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{4}\right) = \frac{121}{500}$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} = \left(-\frac{71}{250}\right)$$

$$\left(\frac{1}{4}\right) - \frac{1}{4} = 0$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{6}\right) = \frac{2}{3}$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{2} = \left(-\frac{31}{64}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{4} = \frac{5}{16}$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{4} = \left(-\frac{161}{216}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{4}\right) = \frac{15}{64}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$

$$\left(\frac{2}{5}\right) + \frac{3}{5} = 1$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{53}{216}\right)$$

$$\left(\frac{1}{3}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{643}{1080}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) = \frac{427}{1080}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) = \frac{1}{24}$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{109}{250}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) = \frac{1}{20}$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$